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(15 points)

/4 Tmyaqunn/

o

concerning the wounded American? Give information from the story to support your answer.

OR any thinking skill studied in class. Use this thinking skill when answering the question.
How does the fact that both Sadao and Hana studied in the United States affect their decisions

For this question, choose ONE of the thinking skills from the Appendix (nav1) on page 13
(10 points for the content of the answer, 5 points for the correct use of the thinking skill)
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Answer the questions for cither (B) All My Sons OR (C) The Wave.

B. ALL MY SONS / Arthur Miller
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Answer questions 5-9.
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8.  Explain the importance of Jim in the play. Give information from the play to support your

answer,

ANSWER:
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9. For this question, choose ONE of the thinking skills from the Appendix (nao1) on page 13

LA
~1.7,

OR any thinking skill studied in class. Use this thinking skill when answering the question.
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(10 points for the content of the answer, 5 points for the correct use of the thinking skill)
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How do Chris and Larry react differently to their father's guilt? Give information from the play
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to support your answer.
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(15 points)
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THE WAVE / Morton Rhue

C.

Answer questions 10-14,

10. Ben Ross decides to start The Wave experiment because he wants to (—).

show that everyone is equal

(1)

(ii) help Robert find friends

(iii) become the leader of a movement

(iv) teach his class about the Nazi party

11. What did Laurie write about in the special edition of The Grapevine?

12.  After first seeing the movie in class, Laurie tells David how much it disturbed her and he replies,

i

bummed out about it for the rest of vour 1

"Well, you can't go around being

Explain how reactions like these convinced Ben Ross to start the experiment. Give information

from the novel to support your answer.

N e Sy - . ¥ = S e Ry T Y A VAN AT i Y AN ot Sy
R N RS T R NS T T R 2 NS 2 T N 57
= \M... \\'\\\/V..-I’,\I.\\Ml -, \\\/\Il /ﬂl. f\\“l -y l\ \I\ f—l. .f\\“..\‘s 1\ N/\ I—f Y \.L.... -, \\\I\ll —I.I.\\Ml -y, \\\I\.l I—\,\f\\-ﬂ. ==p \\\/\_ /\tl\f \.“.. =y, \\\.I
l.._H..u.\ v.l._.....\n.\.whv 20 GN GCUILT TNILL YL =S |.._u.....!..\.../.hw STrL SN .v...._.U..NA
ZAM “f\.l NLSSATZ N, SN TSI/ N SN AN =Y St VRN T \M-Ill "
/-V:Mll\ N/ /hr— Ml/\...r\\ AP /—swrl\f\\“f\’ /I:MV\I\\I/ l/hroswll“l. f\lm =/ \\“- \.V/.laiwll\.l \Il/\iwlloh.l/\
\-H‘\_\l‘\ —~ \I-\u\\\\\ 2. f\‘\hl\l\\\\\ fl.l.f\l-\;\\_\\\.\\ prAa TP A TP VI A VDA F.l..l.\ PA P
5 =
= P
(=} =
g - .
o " g
— S’ ﬂm
B
L
&

o B T A AN
PN SN Fp=p o/ /N

o A VAN S IENNN

& o ey

(10 points)

/7 T1ya qenn/


adico
תיבת מלל


(10 points)
/8 Tmyaqunn/

up in it. You know, really wanting to make it work." Explain why Laurie changes her opinion of

13. When Laurie first tells her parents about The Wave, she says, " You couldn't help but get caught
The Wave. Give information from the novel to support your answer.
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14. For this question, choose ONE of the thinking skills from the Appendix (nov) on page 13

OR any thinking skill studied in class. Use this thinking skill when answering the question.

(10 points for the content of the answer, 5 points for the correct use of the thinking skill)

The first time Robert sees the movie, he goes to sleep. At the end of the novel, when he sees the

movie for the second time, he cries. Explain why there is a difference in his reactions.
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Give information from the novel to support your answer.
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PART III (20 points)
Answer the question for either (15) The Road Not Taken OR (16) The Split Cherry Tree.
Suggested length: 80-100 words.

15. THE ROAD NOT TAKEN / Robert Frost
"You are not the victim of the world, but rather the master of your own destiny. Your choices and

decisions determine your destiny.” — Roy T. Bennett

Make a connection between the above quote and the poem. Give information from the poem to support

your answer.

OR:
16. THE SPLIT CHERRY TREE / Jesse Stuart
"A system of education is not one thing. Education is that whole system of human training within and

without the school walls, which shapes and develops people.” — Adapted from W. E. Du Bois

Make a connection between the above quote and the story. Give information from the story to support

your answer.

/10 Tmya qwnn/


adico
תיבת מלל


AT =2" ! =3 e NS ST~ Vom oy S AT o VoIS S AT NS e T W Ty Ly Lt N JENT w2
S AT NS 2 N AN S 2 N AN S 2 72 NS 7 72 RS 7 ) N72 RN S 2 N7 NN 2 2 72 SN 7 Y 872 RIS 7 72 33570 S

’ -
INSNSNLr e SPINNSIpp 2 N S S0 e0s 20NN s s S0 PN N Lamp SN NS p o f £\ I\I fe=Pod &\ I.\I lpopod ‘\.l/\.i\l bp=td I

SARUSSASSRAISIANSTT (N GCULT TNIL VU SANSRAUISSMS RIS SN RAIESN, osv € oo ey SRAISSNST RIS NS

KO PD AR ASCOT IS OO IR

» 14 \ llnr\.h ..l—l“l =l i o i .1.//.-].\!.. i, ll—\lll!\l..\ll\ \/./-l..\l. l!\'—\/_l S i S S G RS S e ..I—\II_ =, —\Il lll.h
N e N AR A A R T M AT S S O AT AN AT IO AT AT IS It R AT S A AT W AT Ry W ARy A AT EL Y TN
”..\ “a\ /!:.../\W\\ 2 N\\\/ \v?./\m..\ Zs N\.m\/ \v...l/h..\ \.H...H\b\/\v?./\h.\ Zs M\l\/\vﬁ.v\h. 1% AL :...VM. ~ 4 \.../\...\/\v__l/\\w.ﬁ 2 f\\\/\:.../\\ oy I\i\/\vrl\\ oy I\l\/\VF/\\ L7 I\l\/\v r/\\ Y7 AVALS .l/\\ ;

/11 Toyaqunn/

-10 -

016117,016584 01 ,N"ywn 911N, MISD T2

Use this page and the next (pages 10-11) for writing a rough draft.
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APPENDIX TO PARTS I and II
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